## CITY OF APPLETON **Department of Public Works**

# **MEMORANDUM**

Mu Mu	ance Committe micipal Service lities Committe	s Committee		
SUBJECT: Award	l of Contract			
The Department o	f Public Works	recommends	that the follo	owing described work:
Unit Y-23 Lead/Ga	lvanized Water	Service Replace	ement	
	_			
	Scott Lamers (	·	LC	
Address:	W4527 County			
	Kaukauna, WI	54130		
In the amount of:				-
With a %	contingency of	f:		-
For a project total	not to exceed:			<del>.</del>
** OR **				
In an amount Not	To Exceed:		\$500,000.00	-
Bu	dget:	\$500,000.00	_	
Estir	nate:	\$500,000.00	_	
Committee I	Date:	02/20/23	<u>-</u>	
Council I	Date:	03/01/23		

Bid	Item Description	Quantity	Unit	Scott Lamers Costuction LLC		Alfson Excavating LLC	
Item				Unit Price	Item Total	Unit Price	Item Total
1	Pre-construction Interior Inspection / Coordination with Property Owner	120	Each	\$50.00	\$6,000.00	\$200.00	\$24,000.00
2	1" Water Service Replacement (Trenchless)	4320	Lin. Ft.	\$3.00	\$12,960.00	\$4.50	\$19,440.00
3	1-1/2" Water Service Replacement (Trenchless)	100	Lin. Ft.	\$10.00	\$1,000.00	\$10.00	\$1,000.00
4	Service Connection (Interior - at meter)	122	Each	\$2,200.00	\$268,400.00	\$1,500.00	\$183,000.00
5	Service Connection (At curb stop, including new curb box and stem)	120	Each	\$250.00	\$30,000.00	\$1,400.00	\$168,000.00
6	Re-ground Building Electrical Service	120	Each	\$410.00	\$49,200.00	\$300.00	\$36,000.00
7	Reinstall Water Meter to Horizontal Orientation	75	Each	\$100.00	\$7,500.00	\$150.00	\$11,250.00
8	Type "D" Inlet Protection	10	Each	\$50.00	\$500.00	\$10.00	\$100.00
9	Remove and Replace 4" Concrete Sidewalk	250	Sq. Ft.	\$16.50	\$4,125.00	\$11.00	\$2,750.00
10	Remove and Replace 5" Concrete Sidewalk / Driveway Apron	100	Sq. Ft.	\$16.50	\$1,650.00	\$12.00	\$1,200.00
11	Temporary Traffic Control	1	Lump Sum	\$6,700.00	\$6,700.00	\$6,000.00	\$6,000.00
12	Aggregate Slurry Backfill	75	Cu. Yd.	\$165.00	\$12,375.00	\$110.00	\$8,250.00
13	Removal of Contaminated Soils	10	Cu. Yd.	\$50.00	\$500.00	\$110.00	\$1,100.00

\$400,910.00 \$462,090.00

Bid	Item Description	Quantity	Unit	Van Rite Plumbing Inc.		David Tenor Corporation	
Item				Unit Price	Item Total	Unit Price	Item Total
1	Pre-construction Interior Inspection / Coordination with Property Owner	120	Each	\$150.00	\$18,000.00	\$115.00	\$13,800.00
2	1" Water Service Replacement (Trenchless)	4320	Lin. Ft.	\$5.00	\$21,600.00	\$5.00	\$21,600.00
3	1-1/2" Water Service Replacement (Trenchless)	100	Lin. Ft.	\$10.00	\$1,000.00	\$5.00	\$500.00
4	Service Connection (Interior - at meter)	122	Each	\$350.00	\$42,700.00	\$350.00	\$42,700.00
5	Service Connection (At curb stop, including new curb box and stem)	120	Each	\$2,500.00	\$300,000.00	\$3,000.00	\$360,000.00
6	Re-ground Building Electrical Service	120	Each	\$450.00	\$54,000.00	\$300.00	\$36,000.00
7	Reinstall Water Meter to Horizontal Orientation	75	Each	\$150.00	\$11,250.00	\$75.00	\$5,625.00
8	Type "D" Inlet Protection	10	Each	\$10.00	\$100.00	\$90.00	\$900.00
9	Remove and Replace 4" Concrete Sidewalk	250	Sq. Ft.	\$12.50	\$3,125.00	\$13.50	\$3,375.00
10	Remove and Replace 5" Concrete Sidewalk / Driveway Apron	100	Sq. Ft.	\$13.50	\$1,350.00	\$14.00	\$1,400.00
11	Temporary Traffic Control	1	Lump Sum	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00
12	Aggregate Slurry Backfill	75	Cu. Yd.	\$105.00	\$7,875.00	\$120.00	\$9,000.00
13	Removal of Contaminated Soils	10	Cu. Yd.	\$0.01	\$0.10	\$35.00	\$350.00

\$464,500.10 \$497,750.00

Bid	Item Description	Quantity	Unit	M & E Construction LLC		MRJ Inc DBA Joski Sewer	
Item				Unit Price	Item Total	Unit Price	Item Total
1	Pre-construction Interior Inspection / Coordination with Property Owner	120	Each	\$150.00	\$18,000.00	\$75.00	\$9,000.00
2	1" Water Service Replacement (Trenchless)	4320	Lin. Ft.	\$5.00	\$21,600.00	\$2.00	\$8,640.00
3	1-1/2" Water Service Replacement (Trenchless)	100	Lin. Ft.	\$8.00	\$800.00	\$2.00	\$200.00
4	Service Connection (Interior - at meter)	122	Each	\$350.00	\$42,700.00	\$3,250.00	\$396,500.00
5	Service Connection (At curb stop, including new curb box and stem)	120	Each	\$3,000.00	\$360,000.00	\$820.00	\$98,400.00
6	Re-ground Building Electrical Service	120	Each	\$400.00	\$48,000.00	\$350.00	\$42,000.00
7	Reinstall Water Meter to Horizontal Orientation	75	Each	\$250.00	\$18,750.00	\$100.00	\$7,500.00
8	Type "D" Inlet Protection	10	Each	\$50.00	\$500.00	\$125.00	\$1,250.00
9	Remove and Replace 4" Concrete Sidewalk	250	Sq. Ft.	\$15.00	\$3,750.00	\$14.00	\$3,500.00
10	Remove and Replace 5" Concrete Sidewalk / Driveway Apron	100	Sq. Ft.	\$18.00	\$1,800.00	\$14.00	\$1,400.00
11	Temporary Traffic Control	1	Lump Sum	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00
12	Aggregate Slurry Backfill	75	Cu. Yd.	\$120.00	\$9,000.00	\$88.00	\$6,600.00
13	Removal of Contaminated Soils	10	Cu. Yd.	\$50.00	\$500.00	\$90.00	\$900.00

\$535,400.00 \$610,890.00

Bid	Item Description	Quantity	Unit	Wood Sewer & Excavating		Mid City Corporation	
Item				Unit Price	Item Total	Unit Price	Item Total
1	Pre-construction Interior Inspection / Coordination with Property Owner	120	Each	\$350.00	\$42,000.00	\$500.00	\$60,000.00
2	1" Water Service Replacement (Trenchless)	4320	Lin. Ft.	\$6.00	\$25,920.00	\$15.00	\$64,800.00
3	1-1/2" Water Service Replacement (Trenchless)	100	Lin. Ft.	\$12.00	\$1,200.00	\$100.00	\$10,000.00
4	Service Connection (Interior - at meter)	122	Each	\$664.00	\$81,008.00	\$1,750.00	\$213,500.00
5	Service Connection (At curb stop, including new curb box and stem)	120	Each	\$3,550.00	\$426,000.00	\$2,500.00	\$300,000.00
6	Re-ground Building Electrical Service	120	Each	\$500.00	\$60,000.00	\$550.00	\$66,000.00
7	Reinstall Water Meter to Horizontal Orientation	75	Each	\$148.00	\$11,100.00	\$300.00	\$22,500.00
8	Type "D" Inlet Protection	10	Each	\$127.00	\$1,270.00	\$100.00	\$1,000.00
9	Remove and Replace 4" Concrete Sidewalk	250	Sq. Ft.	\$11.00	\$2,750.00	\$15.00	\$3,750.00
10	Remove and Replace 5" Concrete Sidewalk / Driveway Apron	100	Sq. Ft.	\$12.00	\$1,200.00	\$15.00	\$1,500.00
11	Temporary Traffic Control	1	Lump Sum	\$35,000.00	\$35,000.00	\$35,000.00	\$35,000.00
12	Aggregate Slurry Backfill	75	Cu. Yd.	\$178.00	\$13,350.00	\$100.00	\$7,500.00
13	Removal of Contaminated Soils	10	Cu. Yd.	\$51.00	\$510.00	\$1,000.00	\$10,000.00

\$701,308.00 \$795,550.00